Target 80-2021

TARGET 80

Besd VZOD gsmg%ngo
( 2 VBT 3 VOSIBIVO )

1. sec*0 — sec?0 = tan?0 + tan*0 a0
TR
TOZT :

LHS = sec*® — sec?8
= sec?0(sec?0 — 1)
= (1 + tan?0)tan?0
= tan?0 + tan*0

~ LHS = RHS

sin0 1+cos6

: = 2c0sech Q0 WP,
1+cos0 sin0

TOTT :
sin® 1+ cosB
- 1 + cos6 + sin®
sin?0 + (1 + cos0)?
(14 cosB)sind
sin?0 + 1 + cos?0 + 2 X 1 X cos®

LHS

(1 + cosB)sin®
sin?0 + cos?0 + 1 + 2cosO

(1 + cosB)sin®
1+ 1+ 2cosH

~ (1 + cosB)sind
2+ 2cosB

- (1 + cosB)sind
2(1+cest)

- (1+eces0)sind
2

" sinf
= 2cosecH
~ LHS = RHS
cos (90-0) 1+sin (90-0)
1+sin (90-0) cos (90-0)
NOT D .

TOZT ¢

= 2cosecO

_ cos(90—-10) 1+ sin (90 — 0)
" 1+sin(90—06)  cos (90 — 0)
_ sin® 4 1+ cosH

~ 1+ cos® sin®

_ sin®6 + (1 + cosB)?

(14 cosB)sind

LHS

LHS =

B sin®0 + 1 + cos?0 + 2 X 1 X cosO

(1 + cosB)sin®
sin?0 + cos?0 4+ 1 + 2cosO

(1 + cosB)sin®
1+ 1+ 2cos0

~ (1 + cosB)sind
2+ 2cos0

- (1 + cosB)sind

2(11+ces6]
(1+eoes0)sinb
2

~ sin®

= 2cosecH

~ LHS = RHS
cosO 1+sin6

1+sin0 cosO
TOTRT :

= 2secO Q0 Y.

cosB 1 + sinB
1+ sin® T cosH
C0OS?0 + (1 + sinB)?
- (1 + sinB)cosO
cos?0 + 1 + sin?0 + 2 X 1 X sin®

(1 + sinB®)cos6
sin®0 + cos?0 + 1 + 2sind
B (1 + sinB®)cosb
1+ 1+ 2sin0

~ (1 + sinB)cosH
2+ 2sin0
~ (1 + sinB)cosH
_ 2(1tsin®)
- (1+st10)cosO
2
~ cosb
= 2secO
~ LHS = RHS
sin (90-0) 1+cos (90-0)
1+cos (90-0) sin (90-0)
TRRA.
TOTT :

sin (90 — 0) 1+ cos (90—-10)
~ 1+ cos (90 —0) sin (90 — 0)
cos0 1 + sin0
~ 1+ sinb + cosO
COS20 + (1 + sinB)?
(1 +sinB)cosO

LHS =

= 2secO o
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B cos?0 + 1 + sin®0 + 2 x 1 X sinB

(1 + sin®)cos6
B sin%0 + cos?0 + 1 + 2sind

(1 + sinB®)cos6b
1+ 1+ 2sin6

~ (1 + sinB)cosH
2 + 2sin0
~ (1 + sinB)cosH
2(145in8)
(1+sim8)cosO
2
~ cosb
= 2secO
~ LHS = RHS
cos0 sin@
1-tan@ 1-cot0

2.(MQP.1 — 2021, 3 marks)
TOTRT :

= c0S0 + sin@ 20

cos0 sin®
B 1—tan9+1—cot9
cosH sin®
_sin " cosb
cos0 sinB
cosO sin®
cosO — sind + sin® — cos0
cos0 sin®
cos?0 sin?0

LHS

1

+
cosO — sin6  sin® — cosH
cos?0 sin?0

cosO — sin@ cosO — sinf
cos?0 — sin?0

cosO — sin0
__ (cosB+sinB)}ecesB—simb)
—cosB—sint
= cosBO + sin®
~ LHS = RHS

1+cos0 sin0
- - = 2cot Q0T HP2.
sin@ 1+cos0

(Preperatory — 2020, 3 marks)
TOTRT :
LHS = 1+ cosB sin®
"~ sind 1+ cosB
_ (1 +cosB)? —sin*6
"~ sinB(1 + cos)
_ 12+ cos*0 + 2 X 1 X cosB — sin*6

_ 1+ cos?8 + 2cosb — sin’H
B sin0(1 + cos0)

_ 1 —5sin?0 + cos?6 + 2cosh
B sin0(1 + cos0)

_ cos*6+cos?6 + 2cos6

B sinf(1 + cosO)
_2c0s*8 + 2cosH

~ sinB(1 + cosO)

__ 2cosO(cosB+1)

o sin0(d+eosB)”

= 2cot0

~ LHS = RHS

1+sin0 cos0

sin®(1 + cos0)

ps Troime = 2tanf Q0w Y.
TOTRT -
_ 1+5sinb cosB
LHS 3 cos® 1+ sin@
_ (1 +5inB)? — cos?0
~ cosB(1 + sinB)
~ 1% +5sin”0 + 2 X 1 X sin — cos*0
B cos0(1 + sind)
_ 1+ 5sin?0 + 2sinB — cos?O
B cosO(1 + sin0)
_ 1—cos?8 +sin’6 + 2sind
B cosO(1 + sin0)
_ sin*6+sin’0 + 2sind
~ cosB(1 + sind)
_ 2sin”0 + 2sin®
~ cosB(1 + sind)
__ 2sin@(sinB+%y
o cosO(1+sint)
= 2tan0
~ LHS = RHS

tan0 cot@
1—-cot0 1-tant@
O

TOTT ¢

=1 + secO.cosecO xom

tan6 cotO

1 — cotB T 1 — tant0
sin® coso
cosf sinf
1 coso _ sinb
sin® cos0

LHS =
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sinB cos9
_ cosb sin0
sin® — cos® ' cosB — sinb

sin® coso
sme sin® cos® cos0

X
cose sme —cosO sin® cosO — sin0
sin%0 cos’0

+
cos0(sin® — cosB)  sinB(cosO — sinb)
sin®0 cos20

cosO(sin® — cosB)  sinB(sinB — cosO)
sin®0 — cos30

" c0s0.sinO(sin® — cosh)
__ (sinB=eos8)(sin?6+cos?6+sind.cos®
€0s0.sinO(si
1+sinB.cos0O

c0s0.sin0
1 n sin
" co0sB.sin® = cosBsind

1
=—+1
cos0.sinb

= secO.cosecO + 1
= 1 + secb. cosecO
~ LHS = RHS

1+SinA
10. i fn = seCA + tanA Q0T H2.
1-sinA

TOZT ¢

1 + SinA

LHS= |———
1 — sinA

1+ SinA>< 1 + SinA
~ [1—=sinA " 1 +sinA

B (1 + sinA)?
~ |12 — (sin A)?

(1 + sinA)?
1 — sin2A

(1 + sinA)?
Ccos2A

(1+SinA)2_

cosA
1+ sind

"~ cosA

1 SinA

_|_
cosA cosA
= secA + tanA

~ LHS = RHS

1+SinA 1-SinA
. \/ +\/ = 2SeCA Q0T TRA.

1-sinA 1+sinA
TOTRT :

LHS — 1 + SinA 4 1 — SinA
|1 —sinA 1 + sinA

1 + SlnA 1+ SinA Jl —SinA 1 - SinA

+ — X -
1 — smA 1 + sinA 1+sinA 1 -—sinA

1 + sinA)? N (1 — sinA)?
12 — (sin A)? — (sin A)?

1+ smA)2 (1 — sinA)?
B 1-— stA 12 — sin%A
J (

1 + sinA)? \/(1 — sinA)?2

Ccos2A cosZA

1+SmAY 1 SlnA
COsA cosA
1+sinA 1-— smA

+
cosA cosA

_ 1+sinA+1—sind
B cosA

2

cosA
= 2secA

~ LHS = RHS

14+cosA

12. = CcOSeCA + COtA Q0T P2
1-cosA

TOZT ¢

1+ cosA y 1+ cosA
1—cosA 1+ cosA

B (1 + cosA)?
|12 — (cos A)?
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(1 + cosA)?
1 — cos2A

(1 + cosA)?
| sinzA

1+cosA
sinA

1 + cosA

smA
1 cosA

sinA sinA
= cosecA + cotA

~ LHS = RHS

13. \/HCOSA + \/1_COSA = 2Cc0SeCcA Qo

1-cosA 1+cosA
TR A.
TOTRT :

LHS = 1 + cosA 4 1 — cosA
|1 —cosA 1+ cosA

1 4+ cosA 1+ cosA \/1 —cosA 1 —cosA

X
1—cosA 1+cosA+ 14+ cosA 1-—cosA

1 + cosA)? (1 — cosA)?
12 — (cos A)? 12 — (cos A)?

1+ cosA)2 (1 — cosA)?
1- cosZA 1 — cos2A

sin?A sinZA

1+COSAY 1 cosA
sinA sinA
14+cosA 1-— cosA

+
sinA SinA

_1+cosA+1—cosA
[ sinA

(
(1 + cosA)? J(l — c0SA)?

§
-]
-]
-

2
sinA
= 2cosecA
~ LHS = RHS

-1 1
14. \/seCA +\/seCA+ = 2cosecA oo

secA+1 secA-1
O

LHS secA—1 4 secA+1

~ |secA+1 secA—1
secA -1 secA — 1 secA+1 y secA+1
secA +1 secA — 1 secA—1 secA+1

B (secA — 1)2 (secA + 1)2
~ | (secA)? — (1)2 * (secA)? — (1)2

(secA —1)? \/(secA +1)?

sec?A—1 sec?A—1

tanZA tanZA

_ secA 1y secA+1
tanA tanA
secA—1 secA +1

tanA + tanA
secA—1+secA+1

_ \/(secA —1)2 A \/(secA +1)2

= 2cosecd
~ LHS = RHS

1+cosA

" 1—-cosA
(March — 2019, 2marks)
TOTT :

= (cosecA + cotA)? 2o 2.

LHS = 1+ cosA
" 1 — cosA

1+ cosA 1+ cosA

X
1—cosA 1+ cosA
(1 + cosA)?

— (cos A)?
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_ (1 +cosA)?
1 — cos?A
(1 + cosA)?
sinZA
(1 + cosA)2
sinA
1 COsA\ 2
(—. 4 )
sinA  sinA
(cosecA + cotA)?
~ LHS = RHS

1+SinA
" 1-sin
wamd

(secA + tanA)? Qo mH2.

1 + sinA

LHS = —
1 — sinA

1+ sinA » 1 + sinA
1—sinA 1+ sinA
(1 + sinA)?
12 — (sin A)?
(1 + sinA)?
1 — sin%A
(1 + sinA)?

cos2A
(1 + sinA)2

cosA

1 sinA\?2
(05 * cosa)

cosA cosA
(secA + tanA)?
~ LHS = RHS

1+SinA 1-SinA

— =4secA.tanA 20 Y.

" 1-sinA  1+sinA
TOTT ¢

LHYZ 14+ sinA 1-—sinA
" 1—sinA 1+sinA
1 + smA 1+sinA 1-— smA 1 — sinA
1 — smA 1+ sinA 1 + smA 1 — sinA
(1 + sinA)? (1 — sinA)?
— (sinA)? 12 — (sinA)?
_ (1 +sinA)? (1 —sinA)?
1 —sin2A 1 — sin%A
_ (1 +sinA)? (1 —sinA)?
B cos2A cos?A

1 + sinA\? 1 — sinA\?
( cosA ) - ( cosA )
1 sinA\? 1 sinA\?
(cosA T cosA) a (cosA a cosA)
(secA + tan)? — (secA — tan)?
= sec’A + tan®A + 2secA.tanA — (sec?A
+ tan®A — 2secA.tanA)
= sec?A + tan®A + 2secA.tanA — sec?A —
tan’A + 2secA.tanA

= 4secA.tand
~ LHS = RHS

1+cosA 1-cosA
. - =4coseCA. CotA Qo
1—-cosA 1+cosA

O

TOTT ¢
1+cosA 1-—cosA

LHS = —
1—cosA 1+ cosA
14+cosA 1+4+cosA 1—cosA 1-—cosA

1—CosA>< 1+ cosA 1+cosA>< 1 —cosA
(1 + cosA)? (1 — cosA)?
—(cosA)? 12 — (cos A)?
(1 + cosA)? (1 — cosA)?
1 — cos?A 1 — cos?A
(1 + cosA)? (1 — cosA)?
sinZ?A sinZA

(1 + cosA)2 (1 - cosA)2
sinA sinA

1 cosA\? 1 cosA\?
(M + sinA) Bl (M Bl sinA)
(cosecA + cot)? — (cosecA — cot)?

= cosec’A + cot*A + 2cosecA.c — (cosec?A
+ cot?A — 2cosecA. cotA)

= coseC?A + cot?A + 2cosecA. tanA

—coséc*A — cot>A + 2cosecA. cotA

= 4cosecA. cotA

~ LHS = RHS

1—tan2A -
. —1 — 2sin’A Q0% 2.
1+tan<A

TOTT ¢

LHS = ——
1 + tan2A

1= tan?A

~ sec?A
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1 — sin’A
_ Ccos2A
1
Cos2A
cos?A-sin2A
—os%A
T
—<O0sSZ2A
= cos’A — sin’A
1 — sin’A — sin®A
= 1 — 2sin®A
~ LHS = RHS
20. (sinA + cosecA)? + (cosA + secA)? =
7 + tan?A + cot?A Q0% H2.
TOTT ©
LHS = (sinA + cosecA)? + (cosA + secA)?
— sinA+cosec?A + 2sinA. cosecA

+cos?A + sec?A + 2cosA. secA
sin?A + cos?A + sec?A + cosec?A
+ 2sinA. cosecA
+ 2cosA. secA

1
1+ 1+ tan?A + 1 + cot? + 2sinA.——
SinA

+ 2cosA.
€05 CcosA

=3+ tan?A+cot>? +2+2
= 7 + tan2A + cot?A
~ LHS = RHS

1 1 1 1

cosecA—cotA sinA DA sinA cosecA+cotA
NOT THA.

TOZT ¢

1 1
LHS = cosecA — cotA ~ sinA

1

- cosecA — cotA
1 —cosecA(cosecA — cotA)
) cosecA — cotA

11— cosec?A + cosecA. cotA
B cosecA — cotA

B —cot?A + cosecA. cotA

cosecA — cotA
__ CotA(—CotA¥ctosecA)
"~ TCosecA=cotA-
= cotA

— cosecA

1

SsinA B cosecA + cotA
1

cosecA + cotA
cosecA(cosecA + cotA) — 1

cosecA + cotA
cosec?A + cosecA. cotA — 1

cosecA + cotA
cosec’A — 1 + cosecA. cotA

cosecA + cotA
cot?A + cosecA. cotA
cosecA + cotA
__ CotA(eetAtcosecA)
o _cosecA+cotA
= cotA
~ LHS = RHS

RHS =

cosecA —

tanA—sinA N secA—-1

. - = RO THA.
tanA+sinA secA+1

(September — 2020, 2 marks)
ROTT ©

tanA — sinA

LHS=—————
tanA + sinA

- secA+1
~ LHS = RHS

cosA—sinA+1
. ——— = C0SeCA + cotA Q0o TR
cosA+sinA-1

TOZT ¢
B cosA —sinA + 1
~ cosA + sinA — 1
03 T qﬁecﬁﬁ%céabol sinA Q0T NN
cosA _ sinA 1
_ sinA sinA  sinA
cosA  sinA _ 1
sinA ~ sinA sinA
cotA — 1 4+ cosecA

cotA + 1 — cosecA
cotA + cosecA — 1

cotA — cosecA + 1

LHS
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cotA + cosecA — (cosec?A — cot?A)

cotA — cosecA + 1
__ cotA + cosecA — (cosecA + cotA)(cosecA — cotA)

cotA — cosecA + 1
cotA + cosecA[1 — (cosecA — cotA)]

cotA — cosecA + 1
cotA + cosecA[1 — cosecA + cotA]

CotA — cosecA + 1
__ cotA+cosecAfcotA=cosecA+i}—
o —cotA—coseeA+1—
= cosecA + cotA
~ LHS = RHS

sinA—cosA+1 1

" sinA+cosA—1 o secA—tanA
TOTRT :

_ SinA —cosA + 1
~ sinA + cosA — 1
0T & qﬁecﬁﬁ%céabol COSA HoT gNATRN

sinA _ cosA 1
_ coSA cosA ' cosA
sinA = cosA 1

cosA ' cosA  cosA
_ tanA — 1 + secA

" tanA + 1 — secA
_ tanA + secA —1

~ tanA —secA + 1
_ tanA + secA — (sec’A — tan®A)

tanA —secA+1

NOTH TRA.

_ tanA + secA — (secA + tanA)(secA — tanA)

tanA —secA + 1
_ tanA + secA(1 — (secA — tanA)

tanA —secA + 1
_ tanA + secA(1 — secA + tanA)

tanA —secA+ 1
__ tanA+secA{tanA—SecA+T)
o —tanA—seeA+1+
LHS = tanA + secA

RHS=———
secA — tanA
1 secA + tanA

= X
secA — tanA secA + tanA
secA + tanA

"~ sec?A — tan2A
_ secA + tanA

1
RHS = tanA + secA

~ LHS = RHS

cosA-sinA+1 . 1

25. NOTH TRA.

cosA+sinA+1 o tanA+secA
TOTRT :

cosA —sinA + 1

cosA +sinA + 1
03 T qﬁecﬁﬁ%céabol COSA HoT NN

cosA _ sinA 1
_ cosA cosA ' cosA
cosA  sinA 1
CcosA t cosA t cosA
1 — tanA + secA

- 1 + tanA + secA
_ secA —tanA + 1
" secA +tanA + 1
secA — tanA + (sec’A — tan?A)

- secA+tanA + 1
_secA — tanA + (secA + tanA)(secA — tanA)

secA+tanA+1
__ secA—tanA(l+secA+tanA)y—
_ SsecAdtanA++t
= secA — tanA

LHS =

RHS = ————
tanA + secA

1 tanA — secA

= X
tanA + secA tanA — secA
tanA — secA

~ tan?A — sec?A
_ —(secA —tanA)
~ —(sec2A — tan2A)
_ secA — tanA

1
= secA — tanA

-~ LHS = RHS

cotA—cosA _ cosecA-1
" cotA+cosA  cosecA+1
TOTRT :
cotA — cosA

cotA + cosA
cosA
sinA
CosA
sinA

— C/OSA (sirllA_l)
coSA (—+1)

sinA

RO TR

— cosA

+ cosA
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SinA 1

1
SsinA +1
cosecA—1

cosecA+1
~ LHS = RHS

cotA+cosecA—-1 _ 1+cosA

cotA—cosecA+1 - sinA
TOTRT :

N0 THA.

cotA + cosecA — 1

cotA — cosecA + 1
cotA + cosecA — (cosec?A — cot?A)

cotA — cosecA + 1
_ cotA + cosecA — (cosecA + cotA)(cosecA — cotA)

LHS =

cotA — cosecA + 1
cotA + cosecA[1 — (cosecA — cotA)]

cotA — cosecA + 1
cotA + cosecA[1 — cosecA + cotA]

cotA — cosecA + 1
__ cotA+cosecAfcotA=cosecA+i}—
—cotA—cosecA+1—

cosecA + cotA

1 COSA

SinA sinA

_ 1+ cosA

~ sinA
~ LHS = RHS
28. (secA + tanA)? = A+l
TOTT ¢

NOTH THA.
cosecA-1

LHS = (secA + tanA)?

1 sinA\?
(2
cosA cosA
) (1 + sinA)z
B cosA
_ (1 +sinAd)?
"~ cos2A
_ (1 +sind)?
1 -—sin2A
_—1+35inA)(1+sinA)
T (A4sinA) (1-sind)
1+ sind

"~ 1—-sinA

“ 7" 2cos3 A—cosA

1
cosecA
1

~ cosecA
cosecA+1

cosecA
cosecA — 1

cosecA
cosecA+ 1

cosecA — 1
-~ LHS = RHS

1+

29. tan?0 + cot?0 + 2= sec?0. cosec?*O
NOT THA.
TOTT :
LHS = tan®0 + cot?0 + 2
= sec?0 — 1+ cosec®0 — 1+ 2
= sec?0 + cosec?0
1 1
~ cos20 T sin?0
B sin?0 + cos?0
"~ c0s?8.sin?0
_ 1
~ 0s20.sin%0
= sec?0. cosec?0
~ LHS = RHS

sinA—2sin3 A
= tanA Q0T Y.

TOTRT :
sinA — 2sin® A
LHS = 2cos3 A — cosA
sinA(1 — 2sin?A)
- cosA(2cos?2 A—1)
1—2(1 — cos?A)
2cos?A—-1
1 —2+2cos?A
2cos?A—1

= tanA

= tand

2ecos+A=1
= tanA
~ LHS = RHS

= tanA
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31. (cosecA — sinA)(secA — cosA) = (sinA. cosA 1 )2

= — + -
— 1 som o2 cosA.sinA ~ cosA.sinA
tanA+cotA 1 2

ToT - (1 + —)
cosA.sinA
LHS = (cosecA — sinA)(secA — cosA) = (1 + secA. cosecA)?

1 1 . _
= ( — = sinA) ( - cosA) ~ LHS = RHS
SinA cosA

 cinA2 _ 2
- 1 —sinA”) (1 —cos” A .tan%A — sin?A = tan?A.sin?A 2o
SinA cosA
TR

2 .2
_ cos“A\ (sin“ A 25553 -
sinA cosA ]
LHS = tan?A — sin’A

B sin?A

1 =
RHS = —— cos?A
tanA + cotA sin?A — sin?A. cos?A

1 _
~ SinA _ cosA cos?A
cosA " sinA sin?A(1 — cos?A)
_ 1 cos?A
"~ sin2A + cos2A _sin?A
cosA. sinA = oszp S A
cosA. sind = tan®A. sinA

= c0SA.sinA
— sin?A

- sinZAA+ QOS;A ~ LHS = RHS
= % . cos*A — sin*A = 1 — 2sin?A a0
= co0SA.sinA
- .
- LHS = RHS om0 :
LHS = cos*A — sin*A
32. (sinA + secA)? + (cosA + cosecA)? = = (cosA*)* — (sinA?)?
(1 + secA. cosecA)? 203 O3 = (cos?A + sin®A) (cos*A — sin*A)
S, = 1(cos*A — sin?A)

— 1 — cin2 4 — cin2
LHS = (sinA + secA)? + (cosA + cosecA)? =1 Slrf A—sin"A
1 \? 1 \2 =1 - 2sin’A
=<sinA+—) +<cosA+—_ ) ~ LHS = RHS
cosA sinA
sinA.cosA + 1\*  /cosA.sinA + 1\° .sec®A — tan®A = 1 + 3tan?A.sec’A
- ( ) +( ) QOTH TR

TORA.

cosA sinA

__ (sinA.cosA + 1)?  (sinA.cosA + 1)? TOT :
- cosA? sin*4 LHS = sec®A — tan®A

__ (sinA.cosA + 1)?sin®A + cos®A(sinA. cosA + 1)?
7 cosA?.sin%A 5 \3 .
(sinA. cosA + 1)?(sin*A + cos?A) = (1+ tan’4)” —tan°A
= cosAZ. sin2A =13 + (tan?4)3 +3 x 1
(sinA.cosA + 1)2.1 x tan®A(1 + tan®?A) — tan®A
~ cosA2.sin24 = 1 + tan®A + 3tan?A.sec?A — tan®A
_ (sinA. cosA + 1)2 =1 + 3tan®A.sec’A
~\ cosA.sinA ~ LHS = RHS

= (sec?4)® — tan®A
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36. Vsec2A + cosec?A = tanA + cotA
N0 THA.

TOZT ¢

LHS = \/sec?A + cosec?A
= /1 + tan?A + 1 + cot?A
= \/tan2A + cot?A + 2

= \/ (tanA + cotA)?
= tanA + cotA
~ LHS = RHS

A .
— =1 + SinA Q0T Y.

" secA—tanA
TOTRT :

cosA

secA — tanA
cosA
1 __sinA
cosA cosA
cosA
1 —sinA
cosA

LHS =

A x cosA
= coS —
1 —sinA

B cos?A

"~ 1-—sinA

1= sin’A

1 -—-sinA

_ (1 +sind)(1 — sinA)
B 1 —sinA
=14 sin4

~ LHS = RHS

sinZA _ 1+secA

. = NOT T,
1-cosA secA

_ (1+4cosA)(A=cosA)—
_1=cosA
=1+ cosA

secA
_ secA+1

secA
~ LHS = RHS

" 1-cosA

cosecZA+1

= sec?A + tan?A 20

" cosec2A-1

TOOA.
TOZT :

B cosec’A + 1
~ cosec?A —1
1
__sin?A +1
1
sin?A 1
1 + sin’A
_ _ sin?A
1 — sinZA
sin?A
1+ sin?A
1 —sin2A
1+ sin’A
"~ cos2A
1 sin?A
= +
cos?A  cos?A
= sec?A + tan’A
~ LHS = RHS

sinA

LHS

= COSeCA + COtA Q0T PR
TOTT ¢
_ SsinA
" 1 —cosA
_ SsinA » 1+ cosA
" 1—cosA 1+ cosA
_ sinA(1 + cosA)
12 — cos2A
_ sinA(1 + cosA)
B sin?A
_ 1+ cosA
~ sinA

1 cosA

= —+
sinA  sinA

= cosecA + cotA
~ LHS = RHS

LHS

. (tanA X sinA) + cosA = secA Q0w

HQ.(June — 2019, 2 marks)
TOZT ©

LHS = (tanA X sinA) + cosA
_ (sinA

X sinA)) + cosA

Ccos
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Target 80-2021

sin?A
cos
sin®A + cos?A

cosA

+ cosA

_ 1

"~ cosA

= secA

~ LHS = RHS

sin?0 N cos’0
sin20 — cos20  sin?0 — cos20
sin%0 + cos?0
sin?0 — cos?0
1

sin20 — cos20

~ LHS = RHS

cos0—2cos3 0
* 2sin3 0—sin®

= cotO Q0> =H2.

. X =ptan0 + q secd =3y x = p secd + q tan6 (MQP.1 - 2021,3 marks)

38 x% — y? = q% — p? 2o mH.
(June — 2020, 3 marks)
TOTT :
LHS = x? — y?
= (p tan® + q secB )2—(p secO + q tand )?
= (p tanB)? + (q secB)? — 2p tanb. p secO

— [(p secB)? + (q tanB)?
— 2p secB.p tanB]

= p2tan?0 + q?sec?0 — 2pq tanb.secd — [p?sec?0 = cotO

+ q*tan®0 — 2pq secH.tanb]
= p%tan®0 + q%sec?0 — 2pqtunB-secd
—p?sec?0 — q*tan®0 + Zpgseeb-tanl

TOZT :

cos® — 2cos30
LHS =

2sin@ — sin®
_cosO(1 - 2c0s%0)
~ sin6(2sin?0 — 1)
1 — 2cos*0
2(1 —cos?0) — 1
1 — 2cos*0
2 —2cos?0—1

S

= cot0

= cotb
O acos?—

= p?tan®0 + q%sec?d — p*sec?® — q*tan’ = cotB
= p%tan?0 — p?sec?0 + q*sec?0 — q*tan?0 ~ LHS = RHS

= p2(tan?0 — sec?0) + q%(sec?0 — tan?0)
=p?(-1) +4*(1)
— q2 _ pz
~ LHS = RHS
cotZ(90°-0) cosec20 . 1
tanZ20-1 sec2@—cosec2d  sin20—cos20
QRO Q. (june — 2020,3 marks)
TOTRT -

cot?(90° — 9) cosec?0
tan20 — 1 sec20 — cosec?0
tan?0 cosec?0
" tan20 — 1 X sec20 — cosec?0
tan?0 cosec?0
" tan%0—1 + sec20 — cosec20
sin?0 1
c0s20 n sinZ0
sin?0 1 1
cos?0 cos20  sin20
sin%0 1
_ c0s2%0 sinZ0
"~ sin%0 — cos20  sin?0 — cos20
cos20 €0s20.sin%0
_ sinZ0 % Ccos?9~ n 1 cos20.sin?d
cos*6~  sin?0-cos?0  sin?®  sin?0-cos?8

LHS =

sin@ cos0

"1-cotd 1-tan6
TRA.

= sin0 + cosO 20

(MQP.1 - 2021, Preperatory — 2020, 3 marks)
TOTT :

sin® cosO

1 — cotB + 1 — tan®
sin@ cos0
_ cosO + 1— sin@
sinf cosO
_ sin0b cosO
~ sin® — cosBO + cosH — sinb
sinf cos0

16 x sin® + cosB X cos0
= sin ——— 4 cos _—
sin® — cosO cosO — sinb

sin%0 cos?0

LHS =

1

+
sin® — cos®  cosb — sinBO
sin%0 cos’0

~ sin® — cos®  sinB — cosH
B sin%0 — cos?0
"~ sin® — cosO
__ (sinB+cos0)(simb—eos8)
o —simf—cos6—
= sinO + cosHO

~ LHS = RHS
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Target 80-2021

46. {Cosec(90 — 0) — sin(90 — 0)}{(CosecO —
sin@tan0+cotf}=1 Qo> Y.

(MQP.2 —2021,3 marks)
TOTT ¢

LHS = {Cosec(90 — 6) — sin(90 — 8)}{(CosecO
— sin@)(tan® + cot0)}
= {secB — cos6}{(CosecO — sinB)(tand + cotd)}

1 1 1
~{eoss~ o5t~ 5m0) (100 + )} « LHS = RHS
{1 cos? }{(1 sin 9) (1+tan29)} 49. secA(1 — sinA)(secA + tanA) = 1 aows
cos@ sin® tan@ 0.

EHER) G domns

: LHS = secA(1 — sinA)(secA + tanA)
cos46 .
{ 056 { smB < sin® )} = 1 (1- sinA)( 1 + SmA)

cosd cosA cosA  cosA
—€e56- 1 + sinA
sin® —965-2-9— sin@ ~ o A(l — sin )(W)
11— sin®A
-1 ~ cos2A
B €e0s*A
e E
SInv—cos sin COoSs
" (sin@+cosB) = (sinB-cos®)  (2sin26-1) PO =1
Q2. (MQP.2 —2021,3 marks) -~ LHS = RHS
TOTRT : . (cotA X cosA) + sinA = cosecA «0w

(sin® — cosB)  (sind + cosb) QA
(sinB + cosB)  (sinB — cosH) TOTT :

. 2 . 2
_ (sinB — cosB)” + (sinb + cosO) LHS = (cotA X cosA) + sinA
(sinB + cosB)(sinB — cos0) cosA
__ sin?6+cos?H-25inB-c0s0+sin*0+cos?0FZsind-cash = (
sin20-cos20 )
sin%0 + cos20 + sin’0 + cos20 _ Cos A 1+ sinA
sin”f — cos20 sinA
1+1 _ cos®A +sin’A
sin?0 — (1 — sin?0) B sinA
2 1

sin0 — 1 + sin”0 sinA
_ 2 = cosecA
~ 2sin?6 — 1 ~ LHS = RHS
~ LHS = RHS
48. CosecA(1 — cosA)(CosecA + cotA) = 1
QO TRA. 8e oooom » ®YHed

(Gadag dist level exam — 2021, 3 marks) ©.30.208 wodw 3oNo
o520 Bl TWOECO

Bw . 20135850

LHS =

X cosA)) + sinA

sin

LHS = CosecA(1 — cosA) (CosecA + cotA)

_ a A) ( 4 cosA)
~ sinA €05 sinA  sinA

mail:hallikeri.nagaraj567@gmail.com
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